Multiplying Two Trinomials (G)

Simplify each expression.

- (—6¢" — 9¢° — 3¢°)(2¢° — 4¢" — 2¢°)

- (6d® + 4d® + 3d)(3d® + 4d + 9)

O

W

(=3¢t + 4+ 3¢H) (=68 4 T + 4o)

1 (9m? — 2m + 8)(m® + 3m? 4 8m)

Ot

(62 5f +3) (T +8f% — 4f)

6. (8t° + 4t* + 6t3)(4t* — Tt — 3)

C(2f*+2f = 8) (=8 +8f* —4f)

EN |

8 (90° 4 20" 4 4b%)(4b" — 6b° + 8b?)

0. (6m® 4 3m* + 7m*)(=Tm? 4+ 6m? — 8m)

10. (=8¢ + ¢* +49)(—3¢" — g* — ¢°)
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Multiplying Two Trinomials (G) Answers

ot

6.

~I

9.

10

Simplify each expression.

- (—64¢" — 9¢° — 3¢*)(2¢° — 4¢" — 2¢%)

= —12¢" + 6¢° + 42¢" + 30¢° + 6¢°

(6d° 4 4d* 4 3d)(3d* + 4d + 9)
= 18d° + 36d* + 79d° + 48d?% + 27d

(=3c* + ¢ + 3¢ (—6¢° 4 Tc* + 4c)
— 18¢" — 27¢% — 23¢° + 256 + 1267

(9m? — 2m + 8)(m?® + 3m?* + 8m)
= 9m® + 25m* + 74m> + 8m? + 64m

(62 5f +3) (T +8f% — 4f)

= 42f° + 831 + 373 +4f* — 12f

(8t° + 4t* + 6t%) (41> — 7t — 3)
— 32¢7 — 40t% — 28¢° — 54t — 1843

C(2f*+2f = 8) (=8 +8f* —4f)

= 167+ 72f% — 72f% + 32f

(9% + 20 + 4b7) (4b* — 6b° 4 8b?)

= 3607 — 46b° + 760" — 85 + 320°

(6m® + 3m* + 7m?)(—=7m> + 6m? — 8m)
— —42m® + 15m" — 79m5 + 18m° — 56m*

(—8¢° + ¢ +49)(—3¢" — ¢* — ¢°)

= 24¢° + 59" — 5¢° — 5¢g° — 4g*
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